TM0227"7 "0 2,20 P2 702

By a 7122 in yI8Y 77 — PIRY P72 71022

Overview

X127 explained that there is no contradiction between 1"7 who maintains that
a N°27 JA12 22 is not 2°%¥a Tn since it is 72777 "X, and ¥9°937 °" who
maintains that a 7102 is 2°2¥2 1mn; for 997 °" is discussing a "2 702
which is not [really] 72757 "X, It is apparent that both 1"7 and >2°%37 >"1 are
discussing a 7122 which is not 72777 *IX7; 717 17212 1" and °°937 0" in 2"
Our mooIn will explain why did they not both discuss the same case; either
%™ or 1"7r2.

maoIn a?ticipates and resolves a question:
— "Dy HYYWIDTI NP DNHYT NIITT DIVN NN JITA 91923 NN NDT RN

The reason X1°27 did not answer that >>°%371 "1 is discussing a 1''7713 9122 (as
1"7 explained); that is because the 7122 was taught in a case which is
similar to the 2>»>w as I previously explained (that it can only be n°277 212).

mooin deals with the same question in reverse:
— NIND ¥INA 91923 993920 281 NN DIYDT 11N 29 DAN

However previously 1" could have established the 71wn of 121 an 7122 to

be taking place by a ®'"'1m2 9122 (as X1°27 explains *2°%37 >"). It would also be X
727779 IR0,

mooIn responds:
£ P32 99932 TIRYNY NYY NN PAT NN NT AN

However that would be ‘pushing’ the issue’; 1" would rather establish
the 71wn to be discussing a 1''7172 9123, than a "2 02

Summary
"%371 9" cannot be discussing 1"'712 7102 since the 721 is 2MPWT X7 and

1"1 would rather have the 71wn discuss 1"7312 that 2", which is a pm7.

Thinking it over
MooIN mentions only the reason of 'D°n2w7 X7, but not ™" reason which
he mentioned previously’; why?!

2Ry 7"7 moon. See “Thinking it over’.

* The oxan lived (mainly) in *"X. It would seem odd that the 3w» should be discussing a case of "1
However concerning the Xn>*12 of 3" can be referring to 2"1 because either: a) There is no other option,
or b) some 2°Xin of the xn>>72 lived in "1, See »"ma.

? See footnote # 1.
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